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M.COM. (FINAL) BUSINESS ADM.
. EXAMINATION, 2016
FINANCIAL MANAGEMENT
Paper-V1
Time allowed : Three Hours
- Maximum Marks : 100
Part A (T@UE ‘3T) [Marks : 20]

Answer all questions (50 words each).

All questions carry. equal marks.
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Part B (@ ‘®) [Marks : 50]

Answer five questions (250 words each),
selecting .one question from each Unit.

All questions carry equal marks.
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Part C (@S ‘H) [Marks : 30]

Answer amy two questions (300 words each).

All questions carry equal marks.
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Part A (@UT ‘3Y)
Give two factors influencing financial planning.

ﬁ?ﬂwﬁzﬁmaﬁgwﬁamﬁaﬁa‘rﬁaﬁﬁ
AR |

Give the formula for calculating working

capital.
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What do you mean by financial leverage.
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Define - Break-even Point.
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Give any two features of capital budgeting.
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State the meaning and formula for Average Rate

of Return.
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Differentiate between Historical cost and Future

cost.
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Define cost of retained earning..
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Define formal communication.
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Give any two elements of review.
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Unit 1-(FFE I)

Discuss the role of Chief Finance Manager in

Business.
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Write a note on working capital.
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Unit II (31§ 17)

“Financial leverage is a lever to magnify the influence

of EPS.” Explain.
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Compute degree of financial Ieverage of each of the
following three companies having similar EBIT and

similar total amount of finance
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(Rs.)
A Lid. B Ltd. € Ltq.
EBIT 12,000 12,000 12,000
Capitaﬂ structure

Equity share cap. 50,000 30000 50,000

14% Pref. share cap. — 20,000 30,000
d :



—

10% Debenture 50,000 ‘ 50,000 - 20,000
Corporate tax rate 30% _ 30% 30%

Also comment on relative rigk.
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Unit I (337 m)

4. Explain with the help of suitable example the pay-back

period method. Why is it popular ?
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A company is considering two machines X and Y. Machine
X costing Rs. 3,00,000 payable immediately and machine
Y costing Rs. 3,50,000 payable Rs. 2,00 ,000 lmmedlately
and the balance amount of Rs. 1,50,000 at the end of
1st year. The expected cash inflows (Includlng terminal

cash ﬂows) after tax are receivable as under :
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Year 1 2 3 4 5 6
Machine 80,000 1,20,000 1,50,000 140,000 1,00,000 80,000
X

Machine 1,00,000,1,20,000 1,20,0001,50,000 1,30,000 1,00,000

Y

Compute NPV of each machine at discount rate of 8%
and recommend the most profitable machine on the basis

of NPV.

Unit IV (wrér v)

5. Describe the significance of cost of capital. How will
you compute the cost of various components of cost

of capital ?
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How are the cost of irredeemable debentures and cost
of redeemable debentures calculated ? Explain with the

help of example.
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Explain the barriers to communication.
HOR # SR qel w1 avi e
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Discuss the various types of communication.
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Part C (T@UT ‘W)

State the meaning of financial forecasting and describe

the techniques of financial forecasting.
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Explain with the help of suitable example the procedure
of computation of EPS of a company assuming it has

equity share capital, preference share capital and

" debentures in its capital structure. The company is liable
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to pay 40% corporate tax and 15% dividend distribution

tax.
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Distinguish between Ne.t present value technidue and
Internal rate of return technique of évaluatiﬁg capital
expenditure proposals.
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Define weighted average cost of capital. How is ‘it

determined ? Explain in detail.
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Define report writing. Discuss the various types of

reports.
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